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General Knowledge

Which cultural festival was organized in

Chhattisgarh on 30-31% March 20227
A. Sirpur Mahotsav

B. Bhoramdev Mahotsav

C. Rajim Kumbh Mela

D. National Tribal Dance Festival

In the 94" Academy Awards (Oscars)
which movie got the “Best Picture”
Award?

A. CODA
B. West Side Story
C. Dune

D. King Richard

Who was the “Man of the Series” in the
“World Road Safety Cricket
Tournament” organized in Raipur?

A. Yusuf Pathan

B. Brian Lara

C. Tillakaratne Dilshan
D. Monty Panesar

The two part biographical book
“Savarkar” published recently is
authored by famous writer-

A. Sanjeev Sanyal

B. Vikram Sampath
C. J Sai Deepak

D. Abhijeet lyer Mitra

AT AT

30-31 9= 2022 H SIS TSI H 9T
e cdd HET TRT?

A. forgr aeices
B. WRHIT HEIcHd
C. ufSH &v Heft
D. Tt sifeam sie meicea

94 o TeheHT 3ATE (JATEHRT) T “TIAT

forerere” =T farTer fordt SITe BT
A. =iET

B. o dEe wil

C.

D. febm fe=rg

TR AT JoH e US A
FEar 7 “B 31 g €S o1 faame fore
fohenet =l foram o
A. T IBH

B. SF @

C. fehtet foaem
D. Hiwel =&

&1 9T B Jehrf3Td SiiaT “aratene e
T ohaeh g forel! 7€ 27

A. Esid 9Tt

B. fosrg duy

C. S faus

D. s 3= i
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The new “App” named “Abhivyakti
introduced by Chhattisgarh government
is related to-

A. Women Safety

B. Freedom of Speech
C. Consumer Complaints
D. Government Schemes

“The Jungle Book” is a story collection
authored by-

A. Ruskin Bond
B. Rudyard Kipling
C. Mark Twain
D. Khushwant Singh

What is the correct sequence of Grand
Slam Events in Tennis in a calendar
year?

1) US Open

2) Wimbledon

3) French Open

4) Australian Open

A 1,234
B. 2,1,4,3
C. 4321
D. 3,412

Who is the Founder of “North American
Chhattisgarh Association” (NACHA)?

A. Deepali Saraogi
B. Sonal Agrawal
C. Rajshree Mudaliar
D. Mamta Chandrakar

TG I § AT 7T AT “TY”
“Ifireaehl fore & eiftra &7

A. wifeaT gea
B. dTh Tl
C. 3uvwH Rrehmra
D. HHRT AT

FET HUE “F ST T o TG ©-
A. TEF R

B. %eare fopufei

C. HI&h

D. wwrEd g

Teh heivgt Y | g aTe o9 T T
ZATHE i G ohH | SHTT?

1) . T8 A=

PREL=NED)

3) The 3

4) el o

A 1,2,3,4

B. 2,1,4,3

C. 4,3,2,1

D. 3,4,1,2

7= 0 9 @i 3T iR sdae
TEITERN” (NACHA) it eI 87
A. Teareft axatt

B. TN 3ETe

C. TSi#ft qeferam

D. HYAT ISR

SPACE FOR ROUGH WORK / &% &Td & for&r sre

202052-YK-REC-CX-M

Set - A



10.

11.

12.

The name of operation given to 9.
evacuation of Indian citizens from
Ukraine is-

A. Operation Devi Shakti
B. Operation Raahat
C. Operation Ganga
D. Operation Maitri

The “Best Actor” award at the 671 10.

National Film Awards (2019) was
Shared by which two actors?

A. Ayushmann Khurrana & Dhanush
B. Manoj Bajpayee and Dhanush

C. Vijay Sethupathi & Manoj Bajpayee
D. Dhanush & Vijay Sethupathi

Who is the present (April 2022) 11.

“Deputy National Security Advisor” of
United States of America?

A. Jake Sullivan
B. Daleep Singh
C. Rishi Sunak
D. Lloyd Austin

Which country has announced shifting 12.

of its capital to a new planned city
named “Nusantara”?

A. Malaysia
B. Indonesia
C. Singapore
D. Phillipines

Pohel | YRATT RIS bl GRerd ehrer
3 IR T T SRt SR A o
A. TOEH 3t w1k

B. 3TEH Ugd

C. FTIEH M

D. T #5f

67 3 it fohed TR (2019) | o T
FHOATHI hl TYh & H “HAHE FHATHR”
SEEREDIRIDIV

A. AT GUAT T 97

B. HAIST SITSTU! T ey

C. T aqufa o 7St et

D. &y e foas aqufa

AT H (3T 2022) HYTH TS SFHIGEH
“TTSFRT FLET o 3T TATEH” i 82

A. S giaad
B. & fife
C. fofigsn
D. dEE Hifte

e 3T 7 ST S| TTeTT Bt sTeeTaht
e 7 T 9T ST B
ST ST <Y ST 6y 22

A. TAfET

B. $SHfmm

C
D. fheflurga
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13.

14.

15.

Who is considered as the main creator 13.

of Linux Operating System?
A. Linus Pauling

B. Linus Sebastian

C. Linus Ukachukwu

D. Linus Torvalds

Where is the Head Quarter of 14.

“International Solar Alliance”?
A. New Delhi

B. Cape Town

C. Colombo

D. Gurugram

Who was awarded “Padma Shri” for 15.

social work on Leprosy Patients in
Chhattisgarh?

A. Damodar Ganesh Bapat
B. Madan Singh Chauhan
C. Arun Kumar Sharma

D. Anup Ranjan Pandey

1 5 8 i fore st feeen < we
frmiar &2

A. T difefT

B. foe gafeam
C. {3y
D. fom & gRacew

“FTAET GR TS T AT el I
e 82

A. 7% et
B. 97 IR_A
C. SHids

D. TeIm

po)

T AR 6T Yot o e 1ag sh o forgfa
ol “ugust o gEmTi o e

A. SISO ST9E
B. e g =erm
C. 3T HHE IH]

D. 9 {5 urve
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Knowledge of Computer

16.  What is part of a database that holds 16.

only one type of information?
A. Record

B. File
C. Report
D. Field

17. Which of the following is storage 17.

element for a static RAM?
A. Diode

B. Capacitor

C. Flip-flop

D. None of these

18.  What activity is done when you boot up 18.

aPC?

A. Portions of the operating system are
copied from memory to disk.

B. Portions of operating system are
compiled.

C. Portions of operating system are
copied from disk to memory.

D. None of these

19. By default how many number of 19.

worksheets are there in MS Excel?
A. 4

B. 2
C. 5
D. 3

HFIE Hefeft A

STETST T ShI9-9T f&EHT Shalel Teh TohI <hl
SIECAREC R

A. fere

B. &

C. fur

D. %ics

witww s i e s o e

A. TS

B. *ufirex

C. T weita

D. 370 ¥ 1 T

AT T Bt & Ster 3719 o 6 92 d &2

A. STt R ot fewar v @ feem
T st BT &

B. aiToufe freen o fewwn srarde grar
2

C. ATaifen feen = e feeh @ Ay
T il BT 2|

D. 38§ &I Tl

TH T Uerdlel § o118 fehiee forat aehefie
et 82
A 4

()}

B
C.
D

W
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20.

21.

22.

23.

India’s First Supercomputer is known
as-

A. PARAM YUVA
B. SAGA

C. PARAM 8000
D. None of these

Computer calculates numbers in what
mode?

A. Octal
B. Decimal
C. Binary
D

. None of these

How many bits in Nibble?
A. 8
B. 4
C. 16

D. None of these

Which architectural standard is working
with cloud computing industry?

A. Standardized web services

B. Service oriented architecture
C. Web application framework
D

. None of these

20.

21.

22.

23.

IR ST T O LT o 9 H ST ST

mny

UH 41

qrm
qH 8000

. T 9 I3 T

o0 w »

FFRIET 1 EEAT 6T T 1 HIS HIAT &7
A. 3TeurT

C. 16

D. & ¥ &S T

FATSE FFH[T SSEST o AT HiaT
HAT(h T TS T3 LT 87

A. Wreeigse ae wfag

B. € SRS sfenar=t
C. I TR ShHdeh

D. 38 g el
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24. A proxy server is used --------

A. to process client request for
database access

B. to process client requests for web
pages

C. to provide security against
unauthorized users

D. None of these

25. What is the function of an assembler? 25.

A. To convert assembly language to
high level language

B. To convert high level language to
machine language

C. To convert assembly language to
machine language

D. None of these

26.  Which operating system is non- 26.

interactive?

A. Multitasking operating system

B. Batch processing operating system
C. Multiuser operating system

D. None of these

27.  The communication mode that supports 27.

data in both directions at the same time

Simplex

Half Duplex
Duplex

None of these

o0 w»

24. Yoy g T 3TN ToRAT SITAT § -
A.

FATIC TS 1 ST T, THH
& fee

FATIE RForEe I o UST TT6E L o
fer

FTeRIESS I5T 3 fereeq e o forg
5T & 1S Tl

THFICR T 1 T 87

A

TOFTAT SHTAST ol BT Aael Taist
gfafdd sear &

HENENESUES CARHIERSUCH RS
gfafdd sear &
TOFTA ST oh! HRfi oSt §
gfafdd sear &
ST | IS Tl

I |7 TR ey Fa-g-afeea &2

A

O O

e teTfiehT SitfeT fawen
S T S e
TSRS SIS fareeH
TH IS T
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28.

29.

30.

Which of the following technique is
used to send more than one call over a
single line?

A. Digital Transmission
B. Multiplexing
C. Infrared Transmission

D. None of these

Which hardware was used in the first
generation computers?

A. Integrated circuits
B. Vacuum tube
C. Transistors

D. VLSI

Which two kinds of sound effect files
can be used in PowerPoint?

A. .jpg & .gif
B. .wav & .mid
C. .wav & .gif
D

. None of these

28. U Q SATET Hie R AT & A % forg
ferer 2ferten o1 ST foRaT ST 82

A. fesfieat st

B.

T oo fereT
. NS e
. STH A HIE TR

29. YN SRR P H i ET SIS TN
ERIRICIV

A

B

30.

| PiRsule
"

. 5 T T IS

qIaUTS=E § shi9 &1 3T A13-€ HISe SUANT hl

SIR:ETE

A

B.

Jpg & .gif
wav & .mid

wav & .gif

. TTHEHIE Tl
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Reasoning feat

31. In the following series, in place of the 3. fAfafad sEer § yearae: g & T
question mark, select the appropriate T o T forshedt H & S forehed
option from the given alternatives. SEICEEZY
KSM, 18P, G115, E14V, ? K5M, 18P, G118, E14V, ?

A. B17Y A B17Y
B. C17Y B Cl7Y
C. B17X

C. B17X
D. C18Y

D. C18Y

32. How many squares are there in the 32. fyfafad stmeRfd # forae =t €2
following figure?

A. 14
A 14
B 16 B. 16
C. 22 C. 22
D. 12 D. 12

33.  Look carefully for the pattern, and find 33, = o 3 e T eI © 9 T e §
out the wrong number in the series. TTeld ST &1 3T R
1, 3,10, 21, 64, 129, 356, 777 1,3, 10, 21, 64, 129, 356, 777
A. 10 A 10
B. 21 B. 21
C. 64 C. 64
D. 356

D. 356

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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34.

35.

If ‘we are reaching Bombay’ means ‘zik 34.

pik lik hik’, ‘Bombay is really beautiful’
means ‘hik dik mik nik’, ‘Is Mohan
reaching there’ means ‘lik tik cik dik’
and ‘we really need Mohan’ means
‘mik wik tik pik’. What is the code for
‘Bombay’?

A. tik
B. pik
C. hil

D. lik

20 people work in an office. The first 35.

group of 5 serves from 8:00 AM to
2:00 PM, second group of 10 serves
from 10:00 AM to 4:00 PM and third
group of 5 serves from 12 PM to

6:00 PM. There are 3 computers in the
office which are freely used by all the
employees. In which of the following
time periods computers are most likely
to be used?

A. 10:00 AM to 12:00 PM
B. 12:00 PM to 2:00 PM
C. 1:00 PM to 3:00 PM

D. 2:00 PM to 4:00 PM

afg ‘we are reaching Bombay’ <hT aref
‘zik pik lik hik’, ‘Bombay is really
beautiful’ T 379 “hik dik mik nik’, ‘Is
Mohan reaching there’ =T a7 “lik tik cik
dik’ &, 7T ‘we really need Mohan’ shT
319 ‘mik wik tik pik® &1 & ‘Bombay’ T
IS FATE?

Ueh S H 20 Tk 1 Ad 81 5 TR
T I THE IT: § IS § SIIRL 2 o A
13 T €, 10 SARHAT HT U T T
10 SIST ¥ 31T 4 SIS 79 e hLal & qT

5 SATHAT T A6 EHE SI9ET 12 oS | S
6 ST T 1 LT | TR H 3 HFST & i
Al FHETE ST & &9 8 AT R
ST 2| Treforfaa 7 @ forg wemae
SHFRIST T STANT He¥l T4 fopal ST T
T &7

A. I 10 SIS & IR 12 5 T
B. U 12F 2 oA T
C. U1 3T Th
D. IR 2 | 4 5 T
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202052-YK-REC-CX-M 12

Set - A



36.

37.

Three adjacent faces of a cube are
coloured blue. The cube is then cut once
horizontally and once vertically to form
cuboids of equal size. Each of these
cuboids is coloured pink on all the
uncoloured faced and is then cut (as
before) into four cuboids of equal size.
Then how many cuboids have two faces
coloured pink?

Al

B. 3

If PxQ means Pisthesonof Q,P-Q

means P is the mother of Q, P + Q
means P is the brother of Q and P+Q

means P is the sister of Q. If the
relationship among P, Q, R and S is
given by

P+QxR+S+R

then which of the following statement is
true?

A. PisthesonofR
B. P is the daughter of S
C. S is the father’s sister of Q

D. S s the mother of P

36.

37.

Teh 1 o ofIF 3T~ HeTehl ol T et B
T = T Uk oI QST &7 & 3T T o
dAdad ¥ Y G TR o T T 6
o7 h1eT STt 21 39 oA H ¥ 9 foT
U R R R SICIRYRERISIGI
QAT I AT HTHR oh R AT H H1E
fem STt 21 e fohae ST 36 < etk
TSl 7 % &2

qfe PxQ F AP, QH AR, P~ QI
FAP, QAR P+ QHF AL P, Q T
ISR, qT P+ Q 1 3 P, Q I &7 2
afe P, Q, R AT S & Tsien bl e 3a &

feam smar g —

P+QxR+S+R
as ffarfiga 5 9 9 91 e g 22

A. P,RFTTAE
B. P,SHITAE
C. S, QI

D. S, P HM@rl

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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38.

39.

40.

A watch which gains uniformly is 2 min
slow at noon on Monday, and is 4 min
48 second fast at 2 pm on the following
Monday. At what time it was correct?

A. 2 pm on Tuesday

B. 2 pm on Wednesday
C. 3 pm on Thursday
D. 1 pm on Friday

Rakesh is standing at a point. He walks
20 m towards east and further he walks
10 m towards south, then he walks 35 m
towards west and walks 5 m towards
north then he walks 15 m towards east.
What is the straight distance between his
starting point and the point where he
reached last?

A. Om.
B. 5m.
C. 10m.
D. cannot be determined

Which letter replaces the question
mark?

T TSt S 0 &9 8 A1 Fe&d 8, TR
T e | 2 fie ot ], 99T 37Tl aHar)
1 GIUET 2 I 4 fie 48 Tehe o & Sl
g, 98 form T wet oft?

A. HTAER EI9eT 2 St
B. U IR 2 &
C. TEAR AT 3 5l
D. IFFATEITE | o

TeheT Tk foig o et 21 o1 el Sl 3T

20 e wretar 8 37 2faror i 37w 10 Hiex
I =rerar 21 T o ufsm st oK 35 Hiex
AT & I I T 3T 5 Hiet Torar & foe
% qd 1 3R 15 Hiet =T 31 36k
317 feig 31T 3@ feig o siter el gl =
& STef % Sifow o ager o

A. 0HX

B. 5T

C. 10X

D. feffa 7=t forar S weman

1 STt § o Femamaes forg o T ™
U ferehed T = i

B A K
G F P Vv L 2?2

oo w >
O H @» o=
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41.

42.

43.

44,

General Knowledge Related
to work of applied post

The material used as an ingredient of
concrete is usually -------

A. Cement
B. Water

C. Aggregate
D

. All of above

Medium irrigation projects are those
costing-

A. More than Rs. 50 million

B. Between Rs. 50 million and Rs. 2.5
million

C. Less than Rs. 2.5 million
D. Rs. 1.0 million

Sondur Dam is situated in the ------------
district of the Chhattisgarh State.

A. Ambikapur
B. Narayanpur
C. Dhamtari
D

. Kawardha

Soil texture is-

A. The arrangement of individual soil
particles with respect to each other
into a pattern

B. Ratio of sand

C. Relative proportions of sand, silt
and clay

D. Total moisture content of the soil

41.

42.

43.

44.

U< o R A GrTerd

C. wie

D. W Faeft

A. & 50 faferm @ sferen

B. % 50 fafc uwd . 2.5 faferm & men
C. & 2.5 fufermasn

D. & 1.0 fafeem

D. shasi

i) hY seTae 2

A. T e T U g o wefer H SrerT-
ST THET & T hT SFerET

B. X 3T
C. I, ¥ firgh & @it 1
D. figt st g 7t
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45.  Hasdeo Bango Irrigation project of the 45.

Chhattisgarh state comes under-

A

46. Kelo river originates in the- 46.
A.

B.

47.  Chhattisgarh State is the biggest 47.

Lift Irrigation Project

B. Major Irrigation Project
C.
D. Minor Irrigation Project

Medium Irrigation Project

Chitrakoot hills located in the
Jagdalpur district

Ludega hills located in the Raigarh
district

Pali hills located in the Bilaspur
district

Mainpat hills located in the Surguja
district

producer of --------

A

48.  Why is crop rotation necessary? 48.
A.

Oil seeds

B. Maize
C.
D. Rice

Pulses

To increase the fertility of soil

B. To increase the quantity of minerals
C.
D. To plough various types of crops

To reduce the quantity of proteins

TS TS ol T FT TS THATSHT
o JcHTd 7T &-

A. 3IZaed fHes afesET

B. geg fi=s ufErsmr

C. weaw =g ufensmr

D. g Ri=rg afErsHr

hetl Tt T ST T 8-

A. STTEaT foret 5 feord femepe wefeat
B. T foret ¥ feera e wefeat

C. foremadr et o feera reft werfeat

D. TSt foret 7 feere fare wefeat

O FIHUT T AT 87

A. fugt it Sdtar ser & fore

B. @fSIl hl AT Sig o fTT

C. YA 3l 9131 W & o fofT

D. Tafi YerR 3 wel o TS L
fere
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49.  Soil consistency is- 49.
A.
B.

Relative water content in the soil

Characteristic of the soil at various
moisture content

C. Mass of moist soil per unit volume

50.  The commonly used material in 0.

Volume of water present in the total

pore volume

manufacturing of cement is ---------

A

B
C.
D

Sandstone

. Limestone

Slate

. Graphite

gt oy Reorea &-

A. Tt T |me S amw

B. oty et it amm o firgh <t forerwar
C. Yt 3oh1E TG § 19 THel o1 Seome

D. THfSRT % ot SATa H U et 3l
AT

v o T 5 ST 9T SRk A € -
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51.

52.

53.

Civil Engineering Subject
Related

The vehicle approaching a signalized
intersection at a speed of 80 KMPH in
the descending gradient of flyover with
1in 40 slope. If the braking efficiency
of the vehicle is 75% and co-efficient of
longitudinal friction is 0.35. Calculate
the distance required to stop the vehicle
at intersection if the reaction time of the
driver is 2.5 seconds.

A. 162 meters B. 155 meters
C. 106 meters D. 133 meters

Hydraulically efficient channel’s cross-
section is one which-

A. has the minimum hydraulic
resistance

B. carries maximum discharge under
given conditions of slope, roughness
and flow area

C. has the maximum wetted perimeter
D. has the minimum hydraulic radius

In a overhanging beam ABC, simply
supported at A & B, and C being the
free end. If it is subjected to a vertical
load at free end, maximum moment
occurs at —

A z g
A. A

B. C

C. B

D. Between A & B

ol.

52.

53.

furferer o & wweifera

1S aTe 80 FrAft. ufr s A i & 40 7 1
o FEIEN BTe dTed BTS It ¥ Uoh Hehaqch
=T Y TR T TeT 81 A e it Tk
&FFAT 75% T 3Tgaed =90 0.35 8,
<RI T ATe 1 Ukl o STuferd gt bt
o <hifsr, I =meres st gfafshar g
2.5 YhUE BI-

A. 162 "X
C. 106 HeX

B. 155 HIX
D. 133 HiX

STCT{cIh FHRTe ATl 3B STTTE STTHTI
A. =T SerTfaes Sfatreg g )

B. {5 e, Giguu ud srerd & i &
T8 gfferfaa § s1fereraw &md graT 2

C. forem stftrham 311z ufmm 2t 21
D. o =aw stetae Brsam gt 2

T o9 (9%) ABC ST A 94T B T
RIERTRToId & AT C 3EehT 3T fHehett gt
T &1 8 | A 38 ok B W SATe e
STTET SITT T STTeeha™ STTE0T gl QR :-

5 le
2

. B

A.
B. C
C
D. AQATB &=
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54.  The departure of a line of traverse can
be calculated by multiplied its length

with the ------

A. Cosine of reduced bearing
B. Sine of reduced bearing

C. Tangent of reduced bearing
D. Secant of reduced bearing

55.  During the treatment of raw water in
sedimentation tank, Particles settles
individually without interaction with
neighbouring particles, is called as

A. Flocculent particles Settling
B. Discrete particle settling

C. Hindered or zone settling

D. Compression settling

96. A loaded beam is shown in the figure.
The bending moment diagram of the

beam is best represented as :-

le—L—pe—2| —pje—|—>

Ueh T LT ol et Seeht oeelTs o
TTOTT Tk STH ToRaT ST &ehaT -

A. ferd feswue -1 o

B. mAfad e s @

C. Hfq faeha™ & = &

D. A fasaT o goshd S-S |

H[EE ST o HTHIEA e H ITAR o 6H,
epeadt swon & 3iq:foma fomn e S o9
STt SHUTY h e ST 8-

A. Sofifie T SETa
B. JYdhd 0T SHIE
C. e o &fla s
D. Hdted sHE

few Tu fomr o ek wifta e (<) fead €
2| S T TH AT ST e A TR
TR O Gl A=) a8 TeRfd aIar g

le—L—pe—2 | —He—|—>
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57.

58.

59.

What is the variation in duty of water
from the head of a main canal (M) to
that in the field (F)?

A. Duty of water at M is always greater
than duty of water at F

B. Duty of water at M is always equal
to duty of water at F

C. Duty of water at M is always less
than duty of water at F

D. Duty of water at M can be greater or
less than duty of water at F

What is the target mean compressive
strength at 28 days of M, grade

concrete, as per IS code : 10262-2009?
A. 30 MPa

B. 36.5 MPa

C. 38.25 MPa

D. 43.25 MPa

Workability of concrete can be

measured by slump, compaction factor

and Vee-Bee time. Consider the

following statements for workability of

concrete :

I. As slump increases, the VVee-Bee time
increases.

I1. As the slump increases, the

compaction factor increases.

Which of the following is true?

A. Both I and Il are True

B. Both I and Il are False
C. lisTrueand Il is False
D. lis False and Ilis True

S7.

58.

59.

T {7 (M) o =Y & @ (F) 5 9+ 6

ST (duty) ¥ =T o 82

A. M I &SI (duty) THIT F T
T % oo | 37T BlaT 8

B. M WO &1 €5 (duty) THITF W
Tt o ehdled o STe BlaT §

C. M WU & S (duty) THI F T
aTl % s U HH BT &

D. M W 9T 1 242 (duty) F W I+ 6
S (duty) & 37k a1 1 S HFAT &

TR 7 102622009 % SFTER
M,, TS hshie i 28 o foT afera wrex
A. 30 T TR

B. 36.5 T UTEhed

C. 38.25 T UT=hed

D. 43.25 B YTehe

shshie ohl SHRIITEAAT, T, SETE-TTUre qe

rsit (Vee—Bee)WﬁqﬁﬂTW%l

shshie T R & fog fe sheat

foam il

I. A9 g Wt (Vee-Bee) T ot
el |

1. T &G 9L JaITel U sl &

T 7 @ e I aeT 87

[ @ 11 ST HeT B
[ T 11 ST 79T B

[ 9 2 a9 [1 319 2

0o w >

[ 31T 2 9T 11 97 2|
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60.

61.

62.

For sanitary and water supply works,
what percentage of the estimated cost of
the building works are usually provided
in an estimate?

A. 8% for sanitary work and 7% for
water supply work

B. 8% for sanitary work and 8% for
water supply work

C. 7% for sanitary work and 8% for
water supply work

D. 7% for sanitary work and 7% for
water supply work

A constant head permeability is used
for-

A. Coarse grained soil
B. Silty soil

C. Clay sail

D. Organic soil

Hydraulic radius of the channel is
defined as the ratio of -------

A. Cross sectional area of flow to depth
of channel

B. Cross sectional area of flow to
wetted perimeter of the channel

C. Cross sectional area of flow to
width of channel

D. Wetted perimeter to area of the
channel

60.

61.

62.

STt Tt sl we Hedl S o f7T o
fermToT ShTRIT 2l STIATI TrTd 1 foha
gfereTa SATehar § ST ST 872

A. ETE o T 8% o Stet AT
1l o T 7%

B. WS Y o fAIT 8% qe1 STet STqfd
1 o fore 8%

C. ©WS HH o fAC 7% qo01 I AT
&1l o fo1T 8%

D. |®TE R o T 7% o7 STt A
1 % T 7%

o St TpTRIaT ST # TS STl 8-
A. HIS M el 7T o fofg

B. S aTel! 7T o forg

C. fuerftgarah forg

D. Sifesh Har % few

D. Tt T 315 IRHTT Ue 3ThT &%
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63.

64.

65.

If the tensile stress of reinforcement bar
of diameter 'D"is 140N/ mm? and the

bond stress is 0.6 N/mm? the required
bond length will be : -

A. 45D
B. 50D
C. 53D
D. 59D

The most suitable method of irrigation
for areas having low rainfall and strong
winds is-

A. Furrow irrigation
B. Drip irrigation
C. Contour farming
D

. Sprinkler irrigation

If ‘p’ is the precipitation, ‘a’/is the area
represented by arain gauge and ‘n’is
the number of rain gauges in a
catchment area, then the weighted mean
rainfall is-

A sap3
ya2
B. Zap
n
C. Zap
Ya

Sap®

ya3

63.

64.

65.

e oo B¢ et = D & 1 e
gfderet 140N / mm? § 3R site gfderet
0.6 N/ mm? 2, a STrersaeh dfe oiars @
g2

45D

50D

53D

50D

oo w>

& T ST AT g Tt &1 o forg feeg
T T 39 fafe 8-

A, wU fi=g
B. sfg-siz fé=
C. T @l
D. foger fi=m

afg o> IHUT 7, 37 Teh ANTHIS ST <k
&, AT T’ Ueh STAURYT &1 | T
IR J=AT ShT TEAT BT T, O 9T 3ed
Fut 8-
A zap®
ya?
B. Zap
n
C. zap
va

Yap®
val
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66.

67.

68.

69.

A catchment consists of 30% area with 66.

runoff coefficient 0.40 and the
remaining 70% area with runoff
coefficient 0.60. The equivalent runoff
coeff. will be-

A. 0.48
B. 0.54
C. 0.63
D. 0.76

As per 1S-10500 (2012), what is the 67.

maximum permissible limit of turbity
(NTU) of drinking water in the absence
of alternate source.

A. 01
B. 05
C. 45
D. 60

The trapezoidal cross section of road 68.

embankment in banking is having
formation width of 10m, side sloped of
2:1(H:V) and average depth of 1m.
Calculate the quantity of earth work for
300m length. Assume that there is no
traverse slope

A. 3000m®
B. 3100m°
C. 3600m?
D. 3200m®

Gravity dam is most suitable when the 69.

foundation is ------

A. Weak

B. Strong

C. With heavy overburden
D. Rocky but cracked

Teh STTIEYT &1 T 30% & 319aTe Hadih
0.40 AT 3T 70% & TqaTe =ik 0.60
o STTH ¢ | HOGeT UATE fHareien aRTT-
A. 0.48

B. 0.54
C. 0.63
D. 0.76

TR He-10500 (2012) % STTER
Tt B Sehfedeh B 7 819 sl a3m |
HHRIT (NTU) T STfeerae Tae € &-

A. 01
B. 05

C. 45

D. 60

HS AT o HHCTRITRT ST |
(SUTSTEST Sh18 HaH) o TR o <1STS
10 Hiex & qT fF I W e 2: 1(H: V) 3R
e TETE 1m 81 300m e F fore firght
ot gaTs (37 k) i 7T FTa A T"
HId g foh el O IS STTEY BT T <
A 3000m°

B. 3100m?

C." 3600m°

D- 3200m?

A. FHSK

B. oS

C. Wi sitet o &

D. =g cifer Zer ga
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70.

71.

72.

73.

Which of the following is equivalent to
one kilo-pascal?

A. 1000N/m?
B. 1000N/mm?
C. 1000N/cm?

D. 100N /m?

Which one of the following test can be
performed for making the line of sight
parallel to the axis of bubble tube,
during the permanent adjustment of a
level?

A. Spire test

B. Cross-hair ring test
C. Two-peg test

D. None of the above

Which of the following is the purpose of
the valuation?

A. Approximate estimation of cost
B. Analysis of rate

C. Detailed estimation

D. Taxation

Jurisdiction of the superintending
Engineer in water resources department
of the state of Chhattisgarh is also
called:-

A. Division
B. Zone
C. Basin
D. Circle

70.

71.

72.

73.

[ 5 @ 19 |1 U ol ITeaht o HHehal
TIelT 22

A. 1000 =T/ Hr*

B. 1000 =g / f =’

C. 1000 =gz /| HY

D. 100 =g /v

T 1T o Tl AT o SH Soeletl-
Tt ST 378 o FHHIGR 33-Ta T 8
7T & Sh1-T orteqor fopa ST wehT 82

A. TRE S
B. TSl fatast o3 Hisehr St
C. -wersi=

D. 39UH | § %hig T

et & & -1 qeioh T 389
A. QT I I[ER ATAH

B. U fadw

C. N s foreqd A

D. =-feir

FATEE TS o STd qaTed fovmr &
apefferor AN 1 Srtes e oft shgarar
g -

A. 9T
B. uftas
C. #BR
D. Hed
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74.

75.

76.

Which instrument is required for setting 4.

out an offset at an angle of 45° with a
chain line?

A. Optical square
B. Open cross staff
C. Prism square

D. French cross staff

In an RCC staircase, supported at both 5.

ends, the span is 4m & rise is 3m. Total

uniformly distributed load is 10kN / m?
Considering 1m width, what will be
maximum bending moment?

A. 10 kKN-m
B. 20 kN-m
C. 11.25 kN-m

D. 15.31 kN-m

The central core of the zoned 76.

embankment type earth dam ------
A. Prevents piping
B. Check the seepage

C. Gives stability to the central
impervious fill

D. Distribute the load over a large area

Teh SIS 1@ % ©T9 45 377 6 HI0T W
AT 372

A, TEHTIT HHRIOT HIe I

B. @ ATel-[@T

C. HHITY GHHIU {9 A
D. %= Te-fa@rde

Tk eI feAd Shshl ST ST & B W
YTERTATeIA & T T U1 4m TAT A 3T
3m%|aﬁmwwﬁaﬁﬁw

10kN /m? & | Toh fiet et 7 §¢
SRR AT STV SR BT

10 kKN-m
20 KN-m
11.25 kN-m

o o w >

15.31 kN-m

A STSTT Rl kel &
B. frame o Ushem &
C. ohEI STV YIS o feorar 3ar &
D. T&dS &7 H 9 foafa war &
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77.

78.

What is the correct sequence of 7.

formation of the following compounds
in presence of ammonia, during
chlorination of water?

1. NClg
2. NH,CI
3. NHCI,

Select the correct answer using the
codes given below

A 1,23
B. 2,31
C. 312
D. 2,1,3

For construction of a column footing 78.

following works were executed-

A. Excavation of foundation,

B. Back filling with soil,

C. Levelling course by plain'concrete,

D. Reinforced cement concrete filling,

E. Steel reinforcement placing &
binding,

F. Formwork,

G. Curing

What will be the sequence of recording

measurements?

A. ACFEDGB

B. ABCDEFG

C. ACDEFGB

D

. ACFEGDB

STeT o FARIISRUT o THY, STHIT T
Suferfa & frer ifTeRT 3 s o1 T ol
T 82

1. NClg

2. NH,CI

3. NHCI,

e fo2r T2 Spe-wehdlT T SR hLd BT Tl
I AT =TI IR

A 1,23

B. 2,3,1
C. 31,2
D. 2,1,3

Teh &AW (iAW) o e 3 fmtor & fore fey

i o M-

N CEARCG

B. Tugh &t amum s,

C. TUAIHT o foTu STaferd shshic i
WS,

D. Jaferd shshie dl ¥,

E. JeloH SEITd shl € Sie ohl i,

F. WS,

G. TS HTHE

1 3 AT &t Sh T S AT BT

A. ACFEDGB
B. ABCDEFG
C. ACDEFGB
D. ACFEGDB
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79.

80.

81.

82.

Calculate the quantity of the earthwork
in cubic meter for a canal embankment
of 100m long having heights of 3m and
5m at the two extreme edges. Top
widths of the embankment are 2m and
4m at the two extreme edges and side
slope is 2:1. Use trapezoidal method

A. 3500
B. 4000
C. 4200
D. 4700

The gradual reduction in value with age
of a property is known as -------

A. Revaluation
B. Appreciation
C. Depreciation
D. Devaluation

The double mass analysis is adopted to-
A. Estimate the missing rainfall data

B. Obtain intensities of rainfall at
various durations

C. Check the consistency of data

D. Obtain the amount of storage
needed to maintain a demand
pattern

The angle of internal friction, is least
for-

A. Angular- grained loose sand
B. Angular-grained dense sand
C. Round-grained loose sand
D. clay

79.

80.

81.

82.

U SRS o T 100 Hiet o et
dester, fSraehs a1 = fohn 3 Hier 3t 5
it W &, & foe fopat o & o er o
TaTE T ATawIhar 2t | dester W et
2 HieT 3 4 HeT § 3R A1se & 2:1 7 |
TOTTAT ST STINT L |

%

3500
4000
4200
4700

OO w>»

T Hafe i 3T AT 36 g § 8
QIR T o e — FEATIE |
A. TTHIT

N X

B. goudlee

=N <

. HABH

(=N

C
D. 3aHIT

N

e SoIATE TrsgouT ST ST ©-
A. B ELAN-HATHST oh b &

B. fafy= srafert & awt <t dfferar I1d v
sl

C. el shY HTaT % TIEoT o

D. HiT ST SHIE W & e
ST 6l WIAAT W &34 o

ST B0 ShIVT = raT 8-
A. FHIVF-IHIR Sreft 7aT &
B. HIVF-SHER 9o a1 H
C. TAThRR-GHER Sreft JaT
D. foeigar®
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83.  Which of the following instrument is 83. {7 U & I |1 SUHIT TS A T JUINT
used for measuring the discharge? ERISIGIEN
A. Current meter A. FE WX
B. Manometer B. fyiex
C. Venturimeter C. =i et
D. None of these D. s i & HE 7
84.  Which estimation method is suitable for 84. fafir= mrets areft <tami qer g it fafir=
different thickness of walls and different &0 o foru fe 1 @ i Y 3freRetT
levels of foundation? ffer Sues 82
A. Longwall short wall method A el SR B da Ak
B. Centre line method B, mer @ fify
C. Partly centre line and partly cross C. iR oo YT qur 2T aet dan
wall method ' SRy ’
D. Predominant estimate method )
D. Yo ishetd fafer
85. If the hardness and alkalinity of given 85. 3T 31[ea STt % Ueh 1 H FaIal T
sample of raw water are 350 mg/ £ and WWW‘&(%CO@%W
200 mg/ £ as CaCOg3 respectively, then ¥ 350 By 7./ <o q9T 200 By T, / oot
its carbonate and non carbonate : 'ﬁ ' = S ' ﬁ'
hardness in mg/ £ (as CaCO3) will be -- g\ﬁﬁ?ﬂaﬁ 9 PPN .
------ respectively. — (CaCOs) i
A. 200 and 150 A. 200 TH 150
B. 150 and 200 B. 150 Td 200
C. 350 and zero C. 350 Wd =
D. zero and 550 D. Y= us 550
SPACE FOR ROUGH WORK / T &t & forr sre
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86.

87.

88.

Which one of the following method for
setting out circular curve is suitable,
when the ground is uneven and rough
for taking linear measurement?

A. Offset from long chord method
B. Successive bisection of arcs method
C. Two Theodolite method

D. Radial offsets from tangent method

Which of the following statements are
applicable to open channel flow?

A. The Hydraulic Gradient Line (HGL)
and the liquid surface coincide

B. The Hydraulic Gradient Line (HGL)
is higher than the liquid surface

C. The velocity distribution is
symmetrical about mid-depth

D. None of these

In an RCC section steel is not stressed to
maximum value and stress in concrete
reaches its maximum value. The section
is called-

A. Under reinforced section
B. over reinforced section
C. Balanced section

D. Critical section

86.

87.

88.

W A9 i o SAEHA R 3ol WTels
ST o ST a5 GRS i g (e
 HIET qLRT ST &7

A sl Sfierm & ferer gl forfer
B. <Y 3T JqU THfgTsH fafer
C. arfrerarse fafy

D. ¥t v ¥ Frsefier eterer gl fafy

T 5 § I |1 e ot YaTe STt ATt
o forl 3k BT

A. S erEterd Y99t W@ (HGL) Ud 59
il T 9w I O @R

B. S« Sa=foid JaurdT W@l (HGL) 5 Y
g ¥ Sl gl

C. & o forersiT weg Ters o wHiwd &
D. IWIT § ¥ IS el

Teh TETcTd hshie o oh1e H shshie § Sfceret
HTHTH A T Tg = ST 1 &t §
SfersTet 37O SAfeehad T ook T UgeT § | W
e (Section) 1 e © :-

A. 3T JEleTd e
B. 3fd yeIferd sre
C. Eqford e
D. hifceh e
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89.

90.

91.

92.

Which of the following irrigation 89.

technique is preferred where area has a
irregular topography with excessive
slope?

A. Sprinkler irrigation
B. Drip irrigation

C. Border irrigation

D. Furrow irrigation

Bacterial concrete is one that- 90.

A. is affected by bacteria
B. is placed in marine conditions
C. isused in polluted environment

D. has auto crack healing capacity

Which of the following is true? 91.

A. Runoff = Evaporation +
Precipitation

B. Evaporation = Precipitation +
Runoff

C. Infiltration'= Precipitation +
Evaporation

D. Precipitation = Evaporation +
Runoff + Infiltration

Which foundation is not fit for concrete 92.

gravity dam or for rock-fill dams?
A. Solid rock foundation

B. Gravel foundation

C. Silt and fine sand foundation
D. Clay foundation

freferfaa & & s it f=ms qeien i
STerfEeRdT & ST & STet & § STtk
&AM % |1 AT TAThia Bt 22

A. foewma fG=r
B. -3z fiamg
C. dimr s
D. U f=rg

A. S Sframopet & st gt 2

B. o gyt feurfrant & wonfoe fora sar
&

C. S gl aTerrereer & ST foharm Sfrat
2

D. 5w wd: et ot Wi shi &qwar gidi 2

g g a2

A. 3TYATE = TSI + aHor

B. aTSHeRtor = aY0T + 31T

C. fwme = auur + arsdfisrtor

D. Y07 = ITSIR0T + SAYTE + e

shshie Uferdt sier AT Teh-fOhet srient & foru

I © 19 ST Tl 27

. 3G IgH fia

B ikicH

e 3R & 4 i
EHEIEIC)

OO0 w >
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93. Valid range for S, degree of saturation
of soil in percentage is-

A. S>0
B. S<0
C. 0<S<10
D. 0<S<100

94.  Which Bogue’s compound is

responsible for early strength to cement?

A. CS
B. C,S
C. CA
D. C,Al

95. A rice crop is to be irrigated in a field
covering an area of 2400 ha, the duty
and base period of rice are given as
860 ha/cu m/sec and 120 days
respectively. The volume of water
required in the field is nearly :

A. 500 ha-m
B. 1400 ha-m
C. 2000 ha-m
D. 2880 ha-m

96. Methemoglobinemia, or blue baby

disease is caused due to excess of ------

A. Chlorides
B. Fluoride
C. Nitrates
D. Sulphides

93.

94.

95.

96.

TaT il HqHar (S) st wfrera # A1 wiuT -

A. S>0
B. S<0
C. 0<S<10
D. 0<S<100
I T et AMTeh, EiHe H oA drehd
& for R grar 22
C,S
B. C,S
C. CA
D. C,Al
2400 BT SAH o Teh @ | G shl HEA
¥ fH=TS T ; 9 o foTg g7t aen
ST T9T 860 B Tiel FHIST Ui Fahvg

q«AT 120 T (o) B WA A SawIE S
o1 AT (THT) & :

A. 500 TFT HX
B. 1400 geeT Hiex
C. 2000 T HiX
D. 2880 T T

ol T 3Tera et e st
et <t ferehar & gt &-

A. FANESH
B. wINES
C. Trged
D. dchEeH
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97.  The magnetic bearing of a line AB is 97. U T 3 & T Frehiy Tk Ffaror
South 45° 30" East and the declination 45°30" 99 @ HI ek 5° aiEm 81 quf o
is 5° West. The true bearing of line in feorrT Teefa | W@T &t ardfae fena
whole circle bearing (WCB) system is - S
B. 139°30° B. 139°30'

C. 319°30° C. 319°30°
D. 309°30° D. 309°30'

98.  As per IS code 1077 : 1992 the 98. Il /e 1077 : 1992 o HFTAR 3=
maximum Water Absorption of common gof} it A= gehl fgt h ST <Y, e
burnt clay brick is not more than by STTHTC ST STATIOT &HAT —mmmemm T TR
weight for higher classes. T2t B =t
A. 20 percent A 20 gfTa
B. 15 percent B. 15 ‘Slﬁ’?lﬁ'

C. 125 t
Pereen C. 12.5 9w
D. 10 percent
P D. 10 ¥faera

99. A catchment area of 60 ha has a runoff 99. U 60 BFT T STAVRYT &1 0.40 ITITE
coefficient of 0.40. If a storm of e @ar g | afe 3 9, /SR FT T
intensity 3 cm/hr and duration longer . & &
than the time of concentration occurs in A ; %ﬁ%wﬁ
the catchment, then what is the peak feh STCTEUT & H Wfshel Teell &, el =X
discharge? JYATE BT
A 35m3/s A. 3.5 97T/ Tohs
B. 45m3/s B. 4.5 99 Hiet / Hehe

C. 2ETHe/ Uhe
C. omd/s
b D. 2.5 99 HieT / Hehg
- 25m3/s
SPACE FOR ROUGH WORK / T &t & forr sre
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100. A ridge canal is also called a-
A. Watershed canal
B. Contour canal
C. Side slope canal

D. None of these

101. Hierarchy of the officers of works
department of the Chhattisgarh state
government (from high to low) is :-

A. Chief Engineer

Superintending Engineer
Assistant Engineer

Executive Engineer

. Chief Engineer
Superintending Engineer
Executive Engineer

Assistant Engineer

. Chief Engineer
Executive Engineer
Superintending Engineer

Assistant Engineer

. Chief Engineer
Assistant Engineer
Executive Engineer

Superintending Engineer

100. ue reT-TeT T I oft et ST 2-
A.

B.

STCTIIRUT T&t
AT @] T
a1 GA T

ISP | H IS AT

101. BftETE TS o i fordmTt & STferemtit s

(39 § ) T_TIshA B -

A

g FARRIAT
Freffegur ST
e STNRIT
FRIUTE AT
ued SRR
Freffegur ST
FRIUTE AT
HETTh ST
g AR
AT ST
STLTETOT ST
HETHH ST
e A
T AR
TIATE ST
Freffegur STRiAT
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102. what will be the quantity of bleaching

powder (gm) required for treating

500 litres of water, whose chlorine
demand is 2.0 mg/ £ ? Assume the
bleaching powder has 30% of available
chlorine.

A. 6.680 gm
B. 3.340 gm
C. 33.40gm
D. 0.334gm

103. The shear strength of plastic undrained

clay depends upon-

A. Internal friction
B. Cohesion

C. Both (A) & (B)
D. Neither (A) nor (B)

104. Choose the correct statement.

A. A ‘spillway’ is a structure
constructed at a dam site, for
effectively disposing of the surplus
water from upstream to downstream

B. An ‘Ogee spillway’ is mostly
suitable for concrete gravity dams
especially when the “spillway’ is
located within the dam body in the
same valley.

C. A ‘Chute spillway’ is sometimes
known as a waste weir

D. All of the above

102.

103.

104.

500 it ST, orersht Fetfed @it

2.0 fir. 71, / SfieX &, % 9= o forstah <ot
I Terdt AT SATarweh BT WA AT foh
fertsTeh =0t & 30% FAR 3ueTe 3

6.680 =
3.340 0
33.40 0

o o w >

0.334 7

ATt ST T i i &ar
e Bt 8-

A. 3TdiEs eor
B. Thyedm

C
D

. (A) 3R (B) gFl
. T (A)TT(B)

T I T TIT i)

A. U “AfRITerd ARl 98 ST 8, ST ae-
TS YT AT ST bl S il 9T &
~Frer T 9T § STt G aTted R 7
&S STl B

B. U ‘AN Sl A SHshie Tecd
st o foTT stfereRan S ST 8,
forsioe: e, <o < 3fRreeta amt SEt e
T offer o o7t o &t

C. T ‘T ARAa AT ol hvfl-afl
STt off T ST 2|

D. 39Uk auft
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105. The plasticity characteristics of clay are 105. gl © U1 SART0T T SHHT &-

due to-
A. IEIYT ST
A. Adsorbed water
B. Free water B. ghwd
C. Capillary water C. chf¥rehr et
D. None of above D. SWIh § | &g el
106. Geodimeter (Electronics distance 106.  foRiTSIHTeT (serariien gl aTaeh )
measurement device) is based on ------ YT 2-
A. wzvpe;opagatlon of modulated light A T SR T S e i
B. the propagation of infrared radiation B. eI IcESi o ST T
C. the high frequency radio waves C. S=u-3Tg e am
D. the propagation of micro-wave D. HEshad & TEUT I
107. Which type of cross drainage structure 107. 9% % quid: 9L STl &R (FSL) I foreft
is made to allow the Full Supply Level T & 9 & = U TSR 24 78 TR
(FSL) of the canal to pass under the bed ' & 7 oy
of the train? SAU AR SFeT T i €2
A. Aqueduct A S 1
B. Super passage B. gw IS
C. Level crossing C. THUR
D. Siphon aqueduct D. Fid T
108. If the depth is 8.64 cm on a field over a 108. 10 fe o SATYR THT W TF ©d H TEls
base period of 10 days, then the duty is- 8.64 Tt B, a9 ‘TILY B-
A. 10 hectares per cu m/s A. 10 ¥ 9f g1l / TFve
B. 100 hectares per cu m/s B. 100 3 Ufa oiex / Tpve
C. 864 hectares per cu m/s C. 864 ¥t ufy oHfier / Qv
D. 1000 hectares per cu m/s D. 1000 T 9fy gHfieT / A0

hectares per cu m/s —>ha/m3/s
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109. Reynolds number is the ratio of the
inertia force to the-

110.

111.

A

Surface tension force

B. Viscous force
C.
D. Elastic force

Gravity force

The internal dimensions of the slump
cone are-

A

bottom diameter = 200 mm
top diameter = 100 mm
and height = 300 mm

bottom diameter = 200 mm
top diameter = 300 mm
and height = 100 mm

bottom diameter = 100 mm
top diameter = 200 mm
and height = 300 mm

bottom diameter = 250 mm
top diameter = 150 mm
and height =350 mm

During Theodolite traversing, which of
the following error can be eliminated by
taking the mean of face left and face
right observations?

A
B.
C.

Error due to imperfect graduations
Error due to eccentricity of verniers

Error due to line of collimation not
being perpendicular to horizontal
axis

Error due to imperfect adjustment of
plate levels

Hics G987 Siged o T —---—-- CIRGERIG

et 2

A
B.
C.
D.

HE T
RRIEER]
NNEICAUER]
STCATEAT S

. TATT Y1 o AR ST B 8-
A.

=T = = 200 fir =t
s same = 100 far =t
Td TS = 300 T =t
T s/ = 200 for ot
i e = 300 fa i
Te TS = 100 f i
e =/ = 100 T ot
IS =ame = 200 f i
Te T8 = 300 f i
e s/ = 250 far ot
i e = 150 i
Te 4TS = 350 T At

. RrITSIeTse SAsreeliehtoT H, %eteh & a1d

I Teeh o aTU J&fuTt T ST ookt - |
& i ©t FfE T I foRa ST wehar 82

A

B
C

Aol SeTishd o HRT A
At sh ferehesar o R e

HerTier T o &fest 3187 o Tered 7
B % FROT A

e e o ST EHTASH o 1T
e

po)
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112. Rainfall hyetograph shows the variation 112. ot greium fofir=rar gwiiar 8-

of- A. T3 A1y STt a5t
A. Cumulative rainfall with time

B. Rainfall intensity with time B. T W1 W #
C. Rainfall depth over an area C. U & 8 o 1 s hl
D. Rainfall intensity with the D. SATar oS o Y N7 et cfterar bt
cumulative rainfall
113. Who is the administrative head of water 113. eftaTe TS o STt THTe fosamT
resources department of Chhattisgarh ST S I 2, ST ST o ST e
State, directly responsible to the TeTET °
government? )
A. Chief Engineer A. T ST
B. Superintending Engineer B. 3fefteror sxfireiar
C. Engineer-in-Chief C. W@ A
D. Executive Engineer D. FRYTEH STdr
114. If 20% of the reservoir capacity is 114. Ffq 30 ffeTm SHIT ST 6T 20%
earmarked for dead storage in a storage AT Ha-HSRUT % foru fifed &) qer arfie
annal it cepositon i e reservolr & = R 0.1 Pt sl &t e
0.1 M cu m, then the useful life of the 1 ITAM i foert anf ama b & e
reservoir will start reducing after- A 60T9
A. 60 years
Y B. 120a¥
B. 120 years -
C. 240 years C. 240
D. 300 years D. 300 3
115. Canal drops are required to- 115, 9t SAIEM ATEYTS B 2-
A. Dissipate excess energy A. AR Ht 1 T8 F 8
B. Dissipate inadequate land slope B. 31UATH Y T ! 78 L 2
C. Dissipate excess land slope C. Ry ufiy @™ T T8 FH 2
D. None of these D. STEH & FE e
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116.

117.

118.

119.

If aR.C.C. beam is likely to fail in
bond, then it's bond strength can be
increased by :-

A. Increasing depth of beam

B. using thinner bars but more in
numbers

C. using thicker bars but less in
numbers

D. providing vertical stirrups

The Maximum Area of tension
reinforcement shall not exceed as per
IS : 456 - 2000

A. 0.02bD

B. 0.03bD

C. 0.04bD

D. 0.05bD

A simply supported beam of span 4.50m
carries two point loads of magnitude

15 kN each at 1.50m & 3m from the left

support. Magnitude of shear force at the
left support is : -

A. 7.50 kN

B. 15kN

C. 30kN

D. 225kN

Equation of continuity is based on the
principle of conservation of-

A. Mass

B. Energy

C. Momentum

D. None of these

116.

117.

118.

119.

afe foreft werfora shsfie it erT Fr s o
foret B shT STEAT & T 39 &R () |
st are Y TG SIT Tehd &:-

A. o (sfi) Y TS TRt

B. Udc qeT 3Tk GE&AT H Sl T JANT

FT

C. YIS qUT HH G&AT § DST T TINT oL
D. SeateR et 1 FNT &t

W HTFeh 456 - 2000 % STTER T
SIS T SATUehaw &Thet 3 & 31fre e
2T

A. 0.02bD

B. 0.03bD

C. 0.04bD

D. 0.05bD

4.50m Tisft Teh Yreaciford sftH (e), st
AU 1.50m T 3.0m g W 15 kN
qRETOT 3 MR (point load) FT TG FAT R |
Tt FUIE UL STUEYT ST T JIHTOT T
g2

A. 7.50 kN

B. 15kN

C. 30kN

D. 22.5kN

SPACE FOR ROUGH WORK / &% &Td & for&r sre

202052-YK-REC-CX-M

Set - A



120. When not specified, the volume of steel 120. v fafde 72y, ar o ot off red A et ahr
in R.C.C. work is taken as :- < 1 r ISRISISIE

A. 1% to 6% of R.C.C. volume A, AR i ST A 1% ¥ 6%
B. 2% to 4 % of R.C.C. volume B. TR ©f 3TRaT &7 2% & 4%
C. 4% to 6% of R.C.C. volume C. S EY ST=aT 1 4% T 6%
D D.

0 0,
. 0.6% to 1% of R.C.C. volume ST T ST T 0.6% T 1%

121. Which of the following is not 121. fyfefad # o for wen o 1 g & 318
considered in unit rate analysis of an T s o 7 S Tt At 82
item of a building?
A. Contingency expenses A. SR =T
B. Present rate of skilled labour B. et #IfErsh ol ST &
C. Contractor's Profit C. SHSH T AT
D. Present rate of material D. Gt ki 9du e
122. Consider the following statements : 122, TrefeRad shet ot forem shifer
Shrinkage of concrete depends upon the, shehl< 2T Tepel YA BT 2 :
1. relative humidity of the atmosphere | TdTEToT 1 aTfaTes STEar 9T

2. passage of time

3. applied stress 2. G o I T

Which of these statements is/are 3. qgch el R
correct? IUUH HUAT & UNUET § i 9T hIq G
A. land2 29
B. 2and3 A 132
C. lalone B. 233
D. 1,2and 3 c. fud
D. 1,233
123. What is the ratio of cement and sand for 123. 21 o IUX STEdl 3TN Wieel o ford difie 31t
outer plaster of bricks? I &7 ST 81T 8-
A 1:3 A 1:3
B. 1:4 B 1:4
R T C. 1:5
D. 1:6 D 16
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124. A steady flow is one in which-

125.

126.

A. the velocity does not change from
place to place

B. the velocity may change its
direction but the magnitude remains
unchanged

C. the velocity at a given point does
not change with time

D. None of these

Calculate the evaporation (mm) from a
pond, if the pan evaporation is 40 mm.
The pan coefficient is 0.70.

A. 28
B. 12
C. 28

D. 12

The Kuchling's formula for the
estimation of fire demand (where Q is
the amount of water £/ min; P is the
population in thousand) is ------

A. Q=4637J/P (1—0.01J5 )

B. Q=3182/P
C. Q=5663/P

D P

" Q= 1136{§ +10}

124. fem orgre 9% ¢ foram-

125.

126.

A. S8 ST 9T o ufEfdd =i it 2

B. o7 3t o SIae ekl & TR TRATOT
afearfed et et 2|

C. for gu forelt weh foreg o wrwrr o |y am
afefa et e 2l

D. 39Uk H § g T8l

T dTeTel & arsdteror (., ) Y o
fifsre, afe grr arsdiertor 40 fi. ot 21 o=
Tk 0.70 B

28

12

2.8

o o w >

1.2

Ife Q Stet sht 7T (ef/fufee) st p
ST (FSTRI H) & Y ST < 7 3y
A Q-4637P(1-0.01/P)

B. Q=3182P

C. Q=5663/P

D. P
Q=1136| - +10
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127. The Piezometric head is expressed by :

128.

129.

where

p — static pressure

z — potential head

y — specific weight

g — Acceleration due to gravity

A. yz+p

B. p
z+4

c. gz+B

=4z

The standard size of specimen for
conducting the modulus of rupture as
per IS code is-

A. 15x15x60cm
B. 15x15x70cm
C. 15x15x65cm
D. 15x15x75cm

A plumbing device is used with an
Indian water closet, to prevent the entry
of foul gases to the house as well as for
water sealing is called as --------

A. Anti-Siphon trap
B. Intercepting trap
C. P-trap

D. None of the above

127. gfe

128.

129.

p — fer gama

z — ATt s

y — fafste a9

g —> TECATRYT o HRUT T &Y
ar ffees s ses foram e

A. yz+p

gz+—

=4z

HTS U 1S 6 SR ool Aaieh Siier i
o foTe o 1 wTe TR -

A. 15x15x60 &1,
B. 15x15x70 &,
C. 15x15x65 @A
D. 15x15x75 &,

STt ST o St 1 oh S H SereT o6
TTY-HT STATY o6 T SRk Fetett 3
1 el ST &

A. I GT5%T I
B. 3idRiesh urg

C. dlu™

D. TR | § IS el
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130.

131.

132.

133.

Which one of the following is suitable
for forecasting population of fast
growing urban-industrial town?

A. Arithmetic Increase method

B. Geometric Increase method

C. Incremental Increase method

D. Decreasing Rate of growth method

A 6-hr storm with hourly intensities of
7,18, 25, 12, 10 and 3 mm per hour
produced a run-off of 33 mm. Then the
¢ -index is-

A. 7 mm/hr

B. 3 mm/hr

C. 10 mm/hr
D

. 8 mm/hr

Which component will be provisioned
to prevent the sliding failure of retaining
wall?

A. Shear key
B. Shear wall
C. Counter fort
D. Buttress

The process of distribution of water
from main canal to branches is termed

. Canal regulation

. Sluice gates flow

A
B. Channel flow
C
D. falls

130.

131.

132.

133.

oSt | sTgell g8 WTedt Uel HAeifiveh T oAt
ST o JATTH o ford 3 82

A. st gieg fafy
B. Sanfufa gieg fafyr
C. Freaefiar gfes fafy
D. foehma it wredt ax fafer

6 5 T FFTETd 7, 18, 25, 12, 10, q9T
3 far. Y. gfa sie <t fiear o g 33 fa. =
T SIATE Icq~ HLAT & | T ¢ -HTIh o-

A. 7 TaH /e
B. 3t/ s
C. 10 fadt/ e
D. 8 fst/ s

9T AT sh {HHeT ST 3l Uk o
hIF T T T 8N?

A. At it
B. hatl ar
C. e T
D. Ferdar

&7 8L § ISl deh qT o forawor
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134.

135.

136.

137.

Calculate the infiltration loss, if the
intensity of rainfall is 2 cm/hr and
duration of rainfall is 3 hrs. Evaporation
loss is 8 mm & corresponding runoff is
3.6 cm.

A. 24 mm
B. 8 mm
C. 28mm
D. 16 mm

What does a Gantt Chart indicate?
A. Balance work
B. Efficiency of project

C. Comparison of scheduled process
and actual process

D. Progress of work

In an irrigated field, the net irrigation
requirement is 15 cm, the application
efficiency is 80% and water conveyance
efficiency is 60%. What is the gross
irrigation requirement (in cm)?

A. 31.25
B. 11.25
C. 18.75
D. 25.00

The application of a single coat of low
viscosity liquid bituminous material to
a porous granular surface preparatory to
the superimposition of Bituminous
treatment or mix is known as --------

A. Seal coat
B. Tack coat
C. Prime coat
D. Overlay

134. frong effa Y omT hifste, e ot i digar

2 9. 1i /6 qer auf it srafer 3 Ee R
oot &1 8 f1. HY. qem gHEy AuaTE
3.69. H. 3

A. 24T o,
B. §fu. .
C. 28w =
D. 16 it

. T <78 A SIiar 82

A. IS FH
B. UNEISHT hl g&rar

C. Tt ufsram qem areafess gfskar
Jo T

D. &/ sl Wt

. U fHfera & 1, Y7es o o streraehar

15 G, STTSTANT 28T 80% IR Sfet T
TTAT 60% & | Tehet FHTs STTarrehar (At
o) T 87

A. 31.25

B. 11.25
C. 18.75
D. 25.00

. [e95gh HER 8 T SR sht darl B

[ ST STefl ST 3k 2ot |l ot
TohoT UL o 1T ohT el STl 8-

A. R I
B. g Wd

C. e
D. AT 9d
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138. Which test is used for soundness of
bricks?

A. Efflorescence

B. Crushing strength
C. Water absorption
D

. None of the above

139. The approximate ratio between the

strengths of cement concrete at 7 days

and 28 days is-
A. %
“ 7
D. %

140. Which of the following is a non-
recording rain guage?

A. Simon's rain gauge

B. Weighing type rain gauge
C. Tipping Bucket rain gauge
D. Float type rain gauge

141. The active earth pressure coefficient K,

generally refers to-
A. Effective stress
B. Total stress

C. Neutral stress
D. All the above

138.

139.

140.

141.

3T o SATTORIEIOT o fofl i €t STt ot
STt &2

A, TEpA

B. Ak

C. TS Fa=IYoT

D. 3WRE H § IS A8

Hite AT shshie =l 2feh 1 79 far w28 &
e 1 39 STIT BT

B. %
C. %
D. %

= & & i M- srfireret awt uraes 82
A. HTEH T IHIS

B. WRIF-YR IHTIH

C. fefthr st auiamaes

D. Yafed YR IuiHTIS

fsrar geafl aTel TOTish K, 31 AT 37

L

. ST faere
ENEINCE]
BRSEIERIRES]
. 3k |l

O o0 w »
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142. The deflection of a rectangular beam
can be reduced by :-

A.

143. Consumptive Irrigation Requirement is
calculated using the following-

A

144. |n the network shown below the critical

Reducing the depth
B. Increasing span

C. Increasing the depth of beam
D

. None of the above

Consumptive use
B. Effective rainfall
C.

D. Both (A) and (B)

Water lost as percolation

path is :-

(Number beside arrows represent
duration of activity)

A

1-2-3-4-5-6

B. 1-2-4-5-6
C.
D. 1-2-4-3-5-6

1-2-3-5-6

142. SRR o’ (ST) 1 e s fora ST

HehaT & -

A. TTETS FT HA °

B. foredr (vam) sem @
C. & I et s &
D. SWRhH | IS T

. 39 TS SATarTIeRdT hl TTUMET

ferferRar st Su=mT ek ST ST 2
A. ST 3TIT

B. et aut

C. urt feama & &9 H @i ST

D. A 3R BaMI

. =1 Tl Seaeh o ek aer (Critical

Path) g1

(e 3 T s S fia ot srattr qwidt
?)

A. 1-2-3-4-5-6

B. 1-2-4-5-6

C. 1-2-3-5-6

D. 1-2-4-3-5-6

202052-YK-REC-CX-M
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145.

146.

147.

148.

Eqgg shaped sewer are preferred to
circular sewer in combined sewerage
system, because --------

A. they possess better hydraulic
properties

B. they resist soil erosion

C. Velocity remains higher even at low
flow

D. None of the above

The blanket in earth dam is provided----

A. At the ground level on down stream
side

B. At the ground level on up stream
side

C. At the ground level on centre

D. On the down stream slope

For a well graded sand, the coefficient
of curvature should be-

A. More than 3

B. Betweenland3
C. Lessthanl

D. None of the above

A pipeline 60 cm in diameter bifurcates
at a Y-junction into two branches 40 cm
and 30 cm in diameter. If the rate of

flow in the main pipe is 1.5m*/s and

mean velocity of flow in the 30 cm pipe
is 7.5 m/s. Determine the rate of flow in
the 40 cm pipe.

A. 053m°/s
B. 15m3/s
C. 0.87m3/s
D. 0.97m®/s

145.

146.

147.

148.

I AA-aATEeh o T T SRR Ad-
aTEh S TR & ST 7, TR

A. 3T SEA ST B ©

B. o TaT — &0T 31 Tfre o &

C. %9 wgra W off 37 37freh o1 e ©
D. S9rh & T 1S T

319} 2 | scivhe JUTT FHUAT SITAT & -----
A, STHHT T W S T hl T

B. SHHT TR T IUEH €ise

C. g T it T W

D. SR A T

Tt #0ft 3T T BT FshelT TUTTR BT &
A. 39 Al

B. 133 &di

C. 19=H

D. STrh H & 1S T

60 .. ITE il Ueh UTSY AT T 1T
T 9T 40 T, T 30 9.HY. 6 31 ety
3 ferveh fopem o 21 = T oy amg &
SR et 1.5l / Tehve © 3 30 9. .
STl UTSY B HTE o 7.5 HY, / Yehvg B
40 9, HY, aTet UTsy | 8T Sl g B fi-
A. 0.53° /&

B. 1.5 /%@

C. 0.87HF /%@

D. 0974’ /¥
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149. The type of layer in flexible pavement 149. ger et o i<l fofTs ST aTedt ot i

that fulfill the criteria such as strength, YRR ST et frredier wd fehrelt o ATads
filter and drainage requirements is ------ %] 9 FLdT 8-

A. Base layer A YR IT

B. Bituminous layer B faefimgwE

C. Cement concrete layer

C. HiHe Fhshle Wa

D. Granular sub-base layer
y D. TFER 3T YR 9Ld

150. In a concrete mix, if maximum size of 150. ueh shshie fiea 0, afe firgh =1 stftreran
coarse aggregate is increased, the TR T feam sime, Y & firg) skt 3 uTa-
proportion of fine to coarse aggregate >
should be- A. S
A. Increased B. T2

. Decreased [

C
D. HIY JTEfes T8

B
C. Remain same
D

. No relevance to size
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SET-A

IR 3iTeha oY T 0T 3de TfereRaw 3k : 150
Time for making answers : 3 Hours Maximum Marks : 150
e :
1. 38 o qRaent § feT 9 g -
T - (3T) [T [T 1-15
FHIT Haleft A 16-30
SIEuf 31-40
9T & TTE © A 41-50

arT - (@)  Frfaer foreer & owsifera 51-150
T T 1 37 T 7 | T 150 T2F St AT B |

2. il % ST, €1 T OMR STRYIE (SAEeite) W sifeha Hifve |

3. TH-GRAwT H 150 SRS T fau 70 § | I el 3T 2q 1 stk srraifea fora mar 2 qer e 3w
aifeRa e UR Y, 31k 1 AT |

4. Tordlt oft T8 o FeTgHeIed a1 @ e U HISTSel Wi ol ST I & |

5. OMR 3TN (ATETT) T THRT i THIT THT IS JATTUTT T /Al e 98 e T a1
3T Are I7 forerae enfe ug W fides wereaE T 9 T B 9 |

Note :

1. This Question Paper consists of Parts namely :-

PART - (A) General Knowledge 1-15
Knowledge of Computer 16-30
Reasoning 31-40
General Knowledge Related to Work
of applied post 41-50
PART - (B) Civil Engineering Subject Related 51-150

Each question carries 1 mark. All 150 questions are compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.

3. There are 150 objective type questions in this question booklet. 1 mark is allotted for each
correct answer and ¥4 mark will be deducted for each wrong Answer.

4. Use of any type of calculator or log table and mobile phone is prohibited.

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds or wrinkles.
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